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General Instructions :

32/1/3

(i) The question paper has 30 questions in all. All questions are
compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer
Questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.

(iv) Questions from serial number 9 to 20 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(v) Questions from serial number 21 to 28 are 5 marks questions.
Answers of these questions should not exceed 120 words
each.

(vi) Question number 29 and 30 are map questions of 3 marks
each from History and Geography both. After completion,
attach the maps inside your answer-book.
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1. 1932 ® foF0 gueid & o=wid IR Sfirg ot ot Wil iR s
foramdt it 5 sferg ©ie firett ¢ 1
Under which agreement the Indian ‘Depressed Classes’ got

reserved seats in the Provincial and Central Legislative Councils in

19327

2. ‘qd-ufvadl Aierm’ o ufveH B % €UH 1 AW faRav | 1

Name the western terminal station of ‘East-West Corridor.’

3. SUMIRRI & T o ATMTRR I 5 Toh IQTET ITST | 1

Give any one example of consumer’s ‘right to choose.’

4. ‘SifAlo SId g5 1 &I N0 T HITT | 1

Explain the main reason for ‘Bolivia Water War.’

5. afg o119 forelt TRl fasm & wri-shardt s gEAT U HET 9T ©,
T 39 TR ST T T T 7 1

If you want to extract information about the functions of any

government department, which right would you exercise ?

6. ‘TETI-GHI I AT R BT R ? 1

How do ‘pressure groups’ form ?
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7. YR % foRel Uk ‘GeTa-UHg’ 1 STl ST S TSI g sl T
@1 % B9 § 1 il § | 1

Give an example of any ‘pressure group’ of India which functions

as a branch of ‘political party.’

8. STEvIRATSl o Srel WA | Gl THET i ISR SHITTT | 1

Highlight the inherent problem in double coincidence of wants.

9. sk fafm o Tk WEA & |7 ok SRt Y o gfE I | 3x1=3

“Banks are efficient medium of exchange.” Support the statement

with arguments.

10. 3T O W STHEATT AR & Rl U Tohegl A IHTEl ahl T8
it | 3x1=3

Explain any three effects of ‘Non-Cooperation Movement’ on the

economic front.

11. YR | SUNRET AT o TR B o Tl o9 ron o1 fagarsor
shifstu | 3x1=3

Analyse any three reasons for the beginning of the consumer

movement in India.
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12. FEG QT ST 1 Teh M € O T T A - ST oh foTe, aiae

13.

14.

15.

16.

& i Td GeTH G1eHd 1 AT © ¢ IS dfed T8 hIfSu | 3x1=3
Why do the movement of goods and services from one place to

another require fast and efficient means of transport ? Explain with

examples.

[aX( @ o

TG TR AN MEIeH; TsHITT i fohd TR geifad shtd € 7 3aTeton
Hfed €7 shife(y | 3x1=3

How do the pressure groups and movements influence politics ?

Explain with examples.

AT A o R UPATE bl TR i T ¢leh hf1al, Tidi ud
ot smife % AR 1 godied ShifT | 3x1=3

Evaluate the contribution of folklore, songs, popular prints etc., in

shaping the nationalism during freedom struggle.

TRk TERR 8 99 TR g ? IS8Tl dfed T8 hifsu | 3x1=3

How is ‘democratic government’ a ‘legitimate government’ ?

Explain with examples.

A H Tg 3%k il SAlfeIn-gREe Ul i fohrel o foeiwaneti 1
U AT | 3x1=3
Describe any three characteristics of ‘Odisha-Jharkhand belt” of

iron ore in India.
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17. TR i SEA I aTet foheel i ot ot foreetyor shife | 3x1=3

Analyse any three values that make democracy better.

18. N AT I 1 TREAT T b1 SeTewon g ¥ il | 3x1=3

Explain with examples the interdependence of agriculture and

industries.

19. SUTRSIET, 3R ad T0F ‘GHF FONaR’ o foTq 41 hgd 8 7 IO o
forgermor Hifsra | 3

Why do lenders ask for ‘collateral’ while lending ? Analyse the

reasons.

20. HrETH ShifdeRTiEl g1 BIETE AN § rfeeh qeaH shi qTeHT el hid
& e 331w 77U fordi i shedi o1 avie ST | 3x1=3

YT
forram T STl & hest % wre famaiEl ) ferht # s e
o STecATal BT Ui ShIfSTU |

Describe any three steps taken by the French revolutionaries to

create a sense of collective identity amongst the French people.

Or
Describe any three changes that came in the life of Vietnamese

after the colonisation of Vietnam by the French.
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21. 9Rd ® TSI et § UR @ o o fope 7o fonedi ater smdt o
Fuig i | 5%x1=5

Describe any five efforts made to reform political parties in India.

22. YRA % UeHA JUN o GHIE fohrel Q1 TH@ I ohi T8 hifT | T8
g Hifd o ToRegl i 3T oh SATEAT hITST | 2+3=5
Explain any two main challenges faced by the jute industry in

India. Explain any three objectives of National Jute Policy.

23. ‘R o 39 % oMt e 3 aner-wny e R HiY F fawa
T 3t € |7 e ol 3eTewn |fea gfy hife | 5

‘Indian Railways accelerates the economic life of the country as
well as the development of industry and agriculture.” Support the

statement with examples.

24. “‘mren el 3 T TR Tt it ST % SR § ST sl
1ot Twet off |7 e St gfE it | 5x1=5
“Plantation ~ workers had their own understanding of

Mahatma Gandhi’s ideas and the notion of ‘Swaraj’.” Support the

statement.

25, ‘TSHITTh Tl o 9@ @ FAITTEl i T T | 5

Examine the main ‘challenges’ before ‘political parties.’
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26. SR T kAT H ST o H WENFER % INEE w1 9uH
FHifS | 5%x1=5

Describe the contribution of technology in promoting the process

of globalisation.

27. ‘IUMIEISAT T Gihg qrfierl T & SUNRRT TeieH T9Tel B FehdT |
e i IfY HifT | 5x1=5

‘Consumer movement can be effective only with the consumer’s

active involvement.” Support the statement.

28. T 1815 W ‘foamn wwie Y ASte foRee <t ? ‘T =Y’ & 3@
ToRT TR y@ A 1 foversor Shife | |+4=5

HAYAT

forram & wrTare foeh wraarett @t S e B OCgreT-grel
3TTaTe <l ftreht ot forwetsor shifsre |

Who hosted ‘Vienna Congress’ in 1815 ? Analyse the main

changes brought by the ‘Vienna Treaty.’

Or

Analyse the role of ‘Hoa-Hao’ movement to arouse anti-imperialist

sentiments in Vietnam.

29. 1 @& A, B 3R C, WRA & feu U ueHifaes W@r-aHfes | 31fehd
forr w2 | 39 weron o Ffafaa St it g 8 gg=ne 37t
3ok GE| A Ao W EiE 78 Wret ) fofge : 3x1=3
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A. ‘HAIEINT AEIAA k! 9 4 8 FrIfedrd €M |

B. 9% ¥IM &l ToramI 1 HamE’ & g7 91 |

C. 9% TIM S8l WRda UL wEE 1 AT 371 o |

Three features A, B and C are marked on the given political outline
map of India. Identify these features with the help of the following
information and write their correct names on the lines marked on

the map :

A. The place, related to the calling off the ‘Non-Cooperation

Movement.’
B. The place where the ‘Peasant’s Satyagraha’ was started.

C. Name the place where ‘Indian National Congress’ session was

held.

dte : MEfaiad T e greatiem afeteat o g S99 @1 29

WA WE:

(29.1) SAEEIAN A I I9H o4 U TEfSd THE H AH
fetfaa |

(29.2) TSQ H 9% ®F A TE g, SRl hdHl § HAwE Iy
foram o |

(29.3) 3| TIM &1 99 faRau ST 1927 # 9™ T ®Ed &1
ST g o |

32/1/3 9 [P.T.O.



Note : The following questions are for the Visually Impaired

30.

32/1/3

Candidates only, in lieu of Q. No. 29 :

(29.1) Name the place related to the calling off the Non-

Cooperation Movement.

(29.2) Which 1is the place where the peasants started

‘Satyagraha’ in Gujarat ?

(29.3) Name the place where Indian National Congress session

was held in 1927.

I o QU U TeHIfae {@n-amtes ®§ fefaiad i 3ug® el 8

A. 9d9 - ARI-3WId S
B. ®Edl - YW YA IO
C. TEERE — YlFEIIR SHIATS TTeh

On the given political outline map of India locate and label the

following with appropriate symbols :

A. Salem — Iron and Steel Centre
B. Kandla — Major Sea Port

C. Hyderabad - Software Technology Park
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Note :

32/1/3

frfaftgd e hae gieartam wdenidet & fou g gen 30 *

TWHWE:
(30.1) dfierrg H fedra emfoass St g2 w1 9 forfaw |
(30.2) STfem & FA O T T o fEra & 7

(30.3) YR “<AreT 9 3eard T’ foha Tsa o fea 3 7

The following questions are for the Visually Impaired

Candidates only in lieu of Q. No. 30 :
(30.1) Name the Nuclear Plant located in Tamil Nadu.
(30.2) Which is the major Sea Port located in Odisha.

(30.3) In which state is Durgapur ‘Iron and Steel Plant’

located ?

11



